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Marks
Question 18 (6 marks)

(a) Name the type of polymerisation shown in the following reaction: 1
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(b)  Assess current developments in the use of biopolymers. 5
‘F] v A V u g ’ [,L ; ,J,{ A’ \ L(L
owretyww‘t%mer’@ paerd i O renewa ol
c C\ E‘ '% J{Q‘ff I ()\JL,(,

.....................................................................................................................

.................................................................................................................

..... C 3*‘@&4{6¢(2“wh¢—‘»®‘¢‘/314‘6” betcose,
Th e v of celidlose s a bigpolyter v
at Liferd 4 oM mean Hak v oal Jf/\e.-wa,éafe

et bbb e lend aras rec:t,.vw_ﬁd @— A« rﬂ@fﬁ,c/( w
ch Cel’du,’cje ,ucuj aer ke uadle 1n Sea<l Away |

~-11-



	subject: HSC 2002 - Chemistry
	Band 5/6: Band 5/6
	sample:  -  Sample 3


